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Question # 1 Without using the tables, find the value of :

() sin(—=780") (i) cot(~855°)
(iii) csc(2040°) (iv) sec(=960)
(v) tan(1110°) (vi) sin(—=300°)

Question # 2 Express each of the following as a trigonometric function 0\ e of

positive degree measure of less than 45°. fb
(i) sin196° (if) cos147° Q
(iii) sin319° (1v) cos254° 0
(v) tan294° (vl) cos728
(vii) sin(—625") (viil) cm(—ﬁ}@'
Question # 3 Prove the following:
(1) sin(180+ a)sin(90— ) =— ,&5305
(i) sin780" sin480° + cos1 0 gl 1

(ii1) sin 306" + cos234" +¢ 2" +cosl8 =0
(1v) cos330°sin 600" + @20" sin150" =-1

Question # 4 Prove that :
639 tan (37[ + 49)

cos (m—6) cosec(27r— 6’)
@ O+t9 sec tan(lSO 9) B

=cos@

360"—6) sin(180°+6) cot(90'—6)

Ques@ @, B,y are the angles of a triangle ABC, then prove that
$ (i) sin(a+f)=siny
(ii) COS[OHr ﬁ) = sing

2

(iii) cos(ax + f)=cosy

(iv) tan(ex + )+ tany=0



